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2 F| 6.67 1.6 - 5.08
3F| 3.20 1.2 — 2.01
458 i VT vy XA 1% 10.93 1.8 - 9.14
2F| 6. 96 1.6 — 5.37
3F| 3. 66 1.1 - 2.57




H£FBIDESE

FI1E
HEFFESA Hhigg HET B thisg
HE)IE %1 X eI =Y =0 N
B x| RS | sosme | mewEn | BREN | REH
sxpEEns || BEE BEMER £k £k
% % % %
3% Mg Ty O RAR 1E| 9.47 2.0 — 7.48
2 F| 5.29 1.3 - 4.00
3F| 2.58 1.1 — 1.49
458 i VT vy XA 1% 9.47 2.0 - 7.48
2F| 5.29 1.3 — 4.00
3F| 2.58 1.1 - 1.49
EHEFFRSA ik et B R dh s
r: e 1= 51X #ME)IEXF0H
B x| RS | sosme | mrmEr | BREN | gEH
R IR AR S TR ZHEBEE = HgE=
% % % %
3% g4 T v AARK 1E| 10. 69 2.0 — 8.70
2 F| 1.20 1.5 - 5.1
3F| 3.28 1.3 — 1.99
458 i VT vy XA 1% 10.69 2.0 - 8.70
2F| 1.20 1.5 — 51N
3F| 3.28 1.3 - 1.99
EHEFFESA i et B R dh s
r: == F1XE ML) EFERBET
B x| RS | sorme | mewEn | BREM | gEH
sEpaEn s | | BEE BEWEE EpE R
% % % %
3% g4 T v AARK 1E| 10. 69 2.0 — 8.70
2 F| 1.20 1.5 - 5.1
3F| 3.28 1.3 — 1.99
458 i VT vy XA 1% 10.35 1.8 - 8.56
2F| 6. 80 1.5 — 5.31
3F| 2.93 1.2 - 1.74




H£FBIDESE

£
HMEFRSA Hhisg ST B thigg
P E=JN]1=Y £ 1RE #HEIEEEAT
= sEmt | eS| e | memEE | BRBN | GRM
sxpEEns || BEE BEMER i £k
% % % %
3% Mg Ty O RAR 1% 10. 69 2.0 - 8.70
2F| 7.20 1.5 — 5.1
3F| 3.28 1.3 — 1.99
458 g4 T vy RAR 12 10. 69 2.0 - 8.70
2% 7.20 1.5 — 5.1
3% 3.28 1.3 — 1.99
#HIERTE A Hhiz HET B thisg
F: == F1XE )| R ERTH
mxs sEmt | eS| smme | memEE | BRBN | GRM
sEpaEn s | BEE B EE R R
% % % %
3% Mg Ty RAR 1% 10. 69 2.0 - 8.70
2F| 7.20 1.5 — 5.1
3F| 3.28 1.3 — 1.99
458 g4 T vy RAR 12 10. 69 2.0 - 8.70
2% 71.20 1.5 — 5.1
3% 3.28 1.3 — 1.99
#HIERTE A Hhiz HET B ihisg
HE)IR F1Xig #HE)EFEMT
a2 sEmt | RS | e | mewEE | BRBM | GRM
sEREEss | BEE BEWEE R R
% % % %
3% Mg Ty O RAR 1% 11.16 2.0 - 9.17
2F| 7.63 1.5 — 6.14
3F| 3.90 1.2 — 2.1
458 g4 T vy RAR 12 11.22 2.0 - 9.23
2% 1.73 1.5 — 6.24
3% 4.12 1.2 — 2.93




H£FBIDESE

ZzIE
#ERFRA Hh ik HiET BT Hhig
HE)IIR F 1R BN eF i
AR | ammx | oene | kEme | aemEs | mRRR | gRy
sEpaEn s | | BEE BEMER i R
% % % %
34 i1 2T vy RAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 — 5.71
3% 3.28 1.3 - 1.99
44F g4 VT vy ZAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99
#MERF RS iz e E G his
RN 1 Xig IR ZE LET
AR | wmmx | oen | kEme | aemEs | mRRR | gRy
R IR AR S SR FHEBER it EptE
% % % %
34 i1 o F vy RAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 — 5.71
3% 3.28 1.3 - 1.99
44F g4 VT vy AAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99
MERF RS iz T E G his
RN 1 Xig SR ZE) I ET
AR | mmmx | oee | kEme | aemEs | mRRR | gRy
sEREEss | BEE BEWEE HpE R
% % % %
34 i1 2T vy RAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 — 5.71
3% 3.28 1.3 - 1.99
44F g4 VT vy AAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99




H£FBIDESE

ZzIE
#ERFRA Hh ik HiET BT Hhig
HE)IIR F 1R SRR KR HT
AR | ammx | eS| kEme | aemEs | mRRR | gRy
sEpaEn s | BEE BEMER i L
% % % %
34 i1 2T vy RAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 — 5.71
3% 3.28 1.3 - 1.99
44F g4 VT vy ZAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99
EERFRA iz T E Ao his
AR 1 Xig FE)IR Z=HT
mRn | wmmmx | oee | kEme | aemEs | mRRR | gRy
sEpEEss | BEE B EE EE R
% % % %
34 i1 o F vy RAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 — 5.71
3% 3.28 1.3 - 1.99
44F g4 VT vy AAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99
EMERFRA iz T E Ao his
NN 1 Xig FHE 1R FHET
AR | wmmx | oene | kEme | aemEs | mRRR | gRy
sEREEss | BEE BEWEE R R
% % % %
34 i1 2T vy RAR 1% 10. 09 1.6 - 8.50
2% 7.02 1.5 — 5.53
3% 3.52 1.3 - 2.23
44F g4 VT vy AAR 1% 10. 09 1.6 - 8. 50
2% 7.02 1.5 - 5.53
3% 3.52 1.3 — 2.23




H£FBIDESE

zIE
B RS Hhigh HEET B i
BN F1RE CEEIN Y )
AR | ammx | oene | kEme | aemEs | mRRR | gRy
sxpEEns || BEE BEMER £k £k
% % % %
3% g4 Ty RARK 18| 10. 69 2.0 - 8.70
2 F| 1.20 1.5 — 5.1
33 3.28 1.3 - 1.99
448 A Ty ZAR 1 10. 69 2.0 - 8.70
23 7.20 1.5 - 51N
3F| 3.28 1.3 — 1.99
HERFTR % Hhiz HRET B AL i
BN %1 RXE BN N
AR | wmmx | oen | kEme | aemEs | mRRR | gRy
R IR AR S RAER REREER R R
% % % %
3% g4 Ty RARK 18| 10. 69 2.0 - 8.70
2 F| 1.20 1.5 — 5.1
33 3.28 1.3 - 1.99
448 A Ty AAR 1 10. 69 2.0 - 8.70
23 7.20 1.5 - 51N
3F| 3.28 1.3 — 1.99
EERFTR % Hhis HRET B AL i
BN %1 RXE BN TR 4:)
AR | mmmx | oee | kEme | aemEs | mRRR | gRy
sEpaEn s | | BEE BEWEE EpE R
% % % %
3% g4 T v RARK 18| 10. 69 2.0 - 8.70
2 F| 1.20 1.5 — 5.1
33 3.28 1.3 - 1.99
448 A Ty AAR 1 10. 69 2.0 - 8.70
23 7.20 1.5 - 51N
3F| 3.28 1.3 — 1.99




H£FBIDESE

zIE
B RS Hhigh HEET B i
BN F1RE PRSI 5 A T
AR | ammx | eS| kEme | aemEs | mRRR | gRy
sxpEEns || BEE BEMER £k £k
% % % %
3% g4 Ty RARK 18| 10. 69 2.0 - 8.70
2 F| 1.20 1.5 — 5.1
33 3.28 1.3 - 1.99
448 A Ty ZAR 1 10. 69 2.0 - 8.70
23 7.20 1.5 - 51N
3F| 3.28 1.3 — 1.99
HERFTR % Hhis HRET B AL i
BN %1RXE PSR FEARET
mRn | wmmmx | oee | kEme | aemEs | mRRR | gRy
sEpaEn s | BEE B EE R R
% % % %
3% g4 Ty RARK 18| 10. 69 2.0 - 8.70
2 F| 1.20 1.5 — 5.1
33 3.28 1.3 - 1.99
448 A Ty AAR 1 10. 69 2.0 - 8.70
23 7.20 1.5 - 51N
3F| 3.28 1.3 — 1.99
EERFTR % Hhis HRET B AL i
BN 81X PRSI R ELERHT
AR | wmmx | oene | kEme | aemEs | mRRR | gRy
sEpamEn s | | BEE BEWEE R R
% % % %
3% g4 T v RARK 18| 10. 69 2.0 - 8.70
2 F| 1.20 1.5 — 5.1
33 3.28 1.3 - 1.99
448 A Ty AAR 1 10. 69 2.0 - 8.70
23 7.20 1.5 - 51N
3F| 3.28 1.3 — 1.99




H£FBIDESE

ZzIX
#ERFRA Hh ik HET B Hhig
RN F 1R 51 R 5 ] R AT
mRa | ammx | eS| kEme | aemEs | mRRR | gRy
sEpEEss | BEE BERER EpE R
% % % %
34 i1 2T vy RAR 1 %) 10. 69 2.0 — 8.70
2% 7.20 1.5 — 5. 71
3% 3.28 1.3 - 1.99
44F g4 VT vy ZAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99
#MERFRA iz AT E G his
RN 1 Xig IR Z I BT
AR | wmmx | oenn | kEme | aemEs | mRRR | gRy
R IR EEAEE] S TR FTEWMEE it EptE
% % % %
34 i1 o F vy RAR 1 %) 10. 69 2.0 — 8.70
2% 7.20 1.5 — 5. 71
3% 3.28 1.3 - 1.99
44F g4 VT vy AAR 1% 10. 91 2.0 - 8.92
2% 7.05 1.5 - 5. 56
3% 3.09 1.3 — 1.80
EMERFRA Hh 32k HiET B I hig
HE)IIR 1R #wmENEFZNF
=5 SEpt | o | swme | meoEs | mEEE | ERM
sEpEEss | BEE BEWEE % R
% % % %
34 i1 2T vy RAR 1 %) 10. 69 2.0 — 8.70
2% 7.20 1.5 — 5. 71
3% 3.28 1.3 - 1.99
44F g4 VT vy AAR 1% 10. 69 2.0 - 8.70
2% 7.20 1.5 - 5. 71
3% 3.28 1.3 — 1.99




HFEEHDIELE

AA—bra—>
MEREA e Gret B fi e
1|1 =1 X s 1|1
NN - X ihFaElE £EEE | MEMER BRBH R
% % % %
3%F g4 T v AARK 12| 0.07 0.9 — 0.01
2 F| 0.05 0.9 — 0.01
3% 0.03 0.9 — 0.01
£FBMOBE
=FhFE
MEREA g, GrEt B i s
s 1|18 =1 R s 1|18
N gt ZHLFES s HH D B BRE RIgg
IR AR A RER REWER B SRS
% % % %
— iAo T RAAR 1Z| 0.16 0.9 — 0.04
2% 0.05 0.9 — 0.01
3E| 0.03 0.9 — 0.01
L% BUOBE
MHESE v
MEREA o et i s
21|18 =1 X s 1]
I S SRRIRAS | smme | memEx | SRR R
% % % %
— g4/ T v AARK 12| 0.90 1.1 — 0.25
2 F| 0.05 0.9 — 0.01
3% 0.03 0.9 — 0.01




AR 2 (ARERT IR D Xzl 5 LT=3his)

HIERT R4

EINES

HEBMDIESE XS 512AR Hhig X3
IFnivl & 9 ¥F ig4( Ty AAFK F1XE [ARIIE
1048 i Ty RAR %1 X #HEINE
X=E 148 SHR{HRX F1RXE [(#FRIE
FHEZFAH X FI1IRE |[#HE)IR
—Z£5K F1RXE [(#FIE
6 8 i Ty RAR %1 X #HEINE
7 %8 ig4( Ty AAFK F1XE [ARIIE
8 #8 g4 VT v AARK F1RE [(#FIE
NG — ig4( Ty AAFK F1XE [ARIIE
WA ITA 548 g4 VT v AARK F1RE [(#FIE
* 758 KERALFAK F1RXE [(#FRIE
ZI1E 348 ig( VT v AARK F1RE [(#FIE
4 %8 g4 Ty AAFK F1XE [ARIIE
A4 —hka—v 34 g4 VT v AARK F1RE [(#F)IE
f-FhE — ig4( Ty AAK F1XE [ARIIE
MNEL » — g4 VT v AARK F1RE [(#F)IE




	14神奈川県_別表１
	14神奈川県_別表２

